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2010g |G’(jw)| ~ 20log(K,b2) — 40logw

bo —10~ >y log(w; |G(jws)l)

N
\ ~33.2224
#.; Nf= find(omega>10~1.4)
35\ b2=10"(mean(log10((omega(Nf).A2).*gain(Nf))))
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1 Bode gain
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figure
loglog(omega,gain,'b+');
title('Bode gain','fontsize',16)
E hold on

| Nf=find(omega>10~(1.4))

4 b2=10"(mean(log10((omega(Nf).*2).*gain(Nf))))
] omega0=21.135;

bl=(omega0”2) * b2;
loglog(omega(Nf),(b2./(omega(Nf).A2)),'r+');
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S(b182 -+ bg)

Gest(S) :

n(s)

0T (s) + (s)

OcR3 “

s.t. a1, a9,a3 > 0,

( EAVZRGE{CRE (E)
min " |G(jws) — Gest(jews)|?
1=1

aias > as

\nd

:S5 + CL184 + (CLQ + Kpbl)SS + (CL3 + K]b1)82 + KprS + K[bg

0 .= [al, as, ag}TER?’
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a4 4% SllAi)
min 31074 (iw) + ()G lws) — (i)

s.t. aj,ag,a3 >0, ajag > as




T EER/IN_FREHT

( T
min Z|(9T¢(jw)+’y(jw))G(sz n(Jws) q

OcR"™

BLET—3BLUZDRINLIE
%Tml PoTWVALELIE, D
RIREE R (T L.

/MEICEFRGVWEZEWNWTETET & BN TmEEZ ML, SNIE(S
JEREICEELV =6, T—FORLE

Cmin (0 A7) TA(0— ATy ( BETEOLD
min ( ) Al ) L BFR+HELIEROIRoHE
= FHELEZLHL

s.t. aj,as,a3 >0, ajas > as

s.t. a1,a9,a3 >0, ajas > as
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R AFXHR ZRAFAME: (o] (10 0 0] |as
>0

as| [0 0 0 —1] |as
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J(a1,a2,a3) = \/Z(log(G(jwi) — Gest(jwi, a1, az,a3)| +1))?

hzesz/IMET S v’ Nyquist FEIZHTRESEEZD
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Matlab @ 3R +EEE4E R A5 v log THIBT=8HIZ, +1ZFMZTLVS

function Y = cost_function(x, b1, b2, omega, G_data, Kp, Ki) v ﬂﬁ#ﬂf(if;[ﬁ

al=x(1);

a2=x(2) ;

a3=x(3) ;

G = minreal (tf ([Kp*b2, Kixb2, Kpxb1, Ki*b1], [1, a3, (a2 + Kpxb2), (al + Ki*b2), Kpxb1, Kixb1]));

[._t,h _t]:bd(G, ); ", — N S L - < < P -
e el b 2 TR TORHRIE rod T, deg HOTIEE

« TAVEHEEDESD
RMEEMTHHMLTEZD

pole_max = max(real (pole(G))) ;% WODEEHDFZFRENA T TAIEZ S

phase_est = squeeze (phase_est)’ /180%pi;% radlZZ %
G_est=gain_est. *exp (1i*phase_est) ; ' :IXI\Eag&(i@ R I;EL—C&%)

Y1 = norm(log( abs(G_data — G est) + 1) ):% g

Ko = 10; Ki=10; % BIOS A4 > THEOEHORKRENATEHITAIELE S 4L

G = tf ([Kpxb2, Kixb2, Kpxbl, Kixbl1], [1, a3, (a2 + Kpxb2), (al + Ki*b2), Kpxbl, Kixbl]);
pole max2 = max (real (pole(G)));

if (pole_max >=0) || (pole_max2 >= 0)

Y= Y1+ 10710, @B FREIHSHRFILTA
Y = Y1,

else
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http://www.bode.amp.i.kyoto-

u.ac.jp/member/ohki/lec/system experiment/documents/parameter estimation example.pdf
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